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Hl w
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582,160

1
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1
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1
1
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2,000

A 1,000
1,000

H3r
Wikd
RIS
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557,840
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9,621
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1,200
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A XX
M BNANY A
el 2B A5 (S &2)
SA BB O () - HEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2
401 AlEHIZL 2 0HY| 50,000 50,000 0
01 Al&H| 50,000 50,000 0
o2& & 2 HeEEXl AlE SXEx 50,000
Q3 OIEXMEH 2229 18,100 33,100 A 15,000
101 2121 H] 1,800 1,800 0]
04 JIZtHIZ22 NS E 1,800 1,800 0
O24 212 29l 1,800
201 et d| 10,300 10,300 0
01 AR 22l ] 500 500 0
O+ =EH o
50,000& *103] 500
02 332%H| 9,800 9,800 0
O2% QI EH 150,000 1200 & 1,800
O24 212 8,000
202 o4 | 1,000 1,000 0
01 2L Y| 1,000 1,000 0
O2% DIxEH 20,000& x50 1,000
401 AlEHIZL 201 Y| 5,000 20,000 A 15,000
01 Al&H| 5,000 20,000 A 15,000
O 2% x53H 5,000
NEUSH 220 At 1,800,000 1,000,000 800,000
Fag 1,150,000
= 650,000
401 AlEHIZL 2 0HY| 1,800,000 1,000,000 800,000
Fag 1,150,000
= 650,000
01 Al&H| 1,794,000 994,000 800,000
OEfx gl &= XHAY 1,794,000
= 1,150,000
= 644,000
03 Al 201 Y| 6,000 6,000 0
OEX alato = 6,000
AR N 2FANY X4 A 1,603,000 4,084,500 AN 2,481,500
101 Q124 H| 87,000 87,000 0
04 JI2ZtHIZ22NEES 87,000 87,000 0
O=014 ME=E
13,000,000& *33] 39,000
oA HATZZ' ol
16,000,000& *33] 48,000
201 gBt24d| 9,500 6,500 3,000
01 AFR2 22| H| 6,500 3,500 3,000
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SA BRI XD
B 2NANY D
SR BRESSIY 25 (29l 8)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
O280d U2t A 29 1,500,000 1 1,500
O&EHl Xt 5,000,000 =1 5,000
02 E2=2=2%H| 3,000 3,000 0
Os0E L2XotLA B33
3,000,000 =1 3,000
206 M Hl 1,500 1,500 0
01 X2 Hl 1,500 1,500 0
Os04d AteEsa L Ietd SA2e
1,500,000& =1 1,500
401 AlEHIZL 20 Y| 1,500,000 3,960,000 A 2,460,000
01 Al&H| 1,500,000 3,950,000 A 2,450,000
QHEAERX 242 1,500,000,000& =14l 1,500,000
405 XHAFFIEHI 5,000 9,500 A 4,500
01 XA 2 E F S| 5,000 9,500 A4 500
Ose L2t 2E3E72Y
5,000,000 =1 5,000
M2 &% ZF|XNY ZH(MSALY) 700,000 0 700,000
401 AlEHI 2L 2 0HY| 700,000 0 700,000
01 Al&H| 696,000 0 696,000
OHM2I 88 HZFRXNYE ZEAMY 696,000
03 Al 20| 4,000 0 4,000
OM2I 48 HZ2ZFANY LAY 4,000
QAR AEAHE L 228 XM 1,000,000 800,000 200,000
= 500,000
= 500,000
401 AIEHIZL 201 Y| 1,000,000 800,000 200,000
= 500,000
= 500,000
01 Al&H| 1,000,000 800,000 200,000
QIAIX| AETRHE L 22D|Etx A 1,000,000
g 500,000
o 500,000
4E E=2 208 =4 600,000 0 600,000
Fag 300,000
= 300,000
401 AlEHIZL 2 0HY| 600,000 0 600,000
Fag 300,000
= 300,000
01 Al&EH| 600,000 0 600,000
OZ=E ES0UH02 =4 AMY 600,000
g 300,000
= 300,000
UAMIAHONIIE 22X H[=XE](MEAY) 1,700,000 0 1,700,000
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SA BRI XD
M TR MNY d=atst
S BBESI|E 25 (25 & @)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
= 700,000
s 1,000,000
401 Al HIZ 201 I 1,700,000 0 1,700,000
< 700,000
s 1,000,000
01 A& HI 1,700,000 0 1,700,000
OEXHHI 300,000
UM ZHOIINE Z2ZIBEM (FXHE)
1,400,000, 000% 14! 1,400,000
< 700,000
i 700,000
8% H2ZFNY Y & AHEZ ZLAMY 2,210,000 0 2,210,000
s 1,710,000
s 500,000
401 AIEHI L 2 CHYI 2,210,000 0 2,210,000
ras 1,710,000
i 500,000
01 A& HI 2,202,500 0 2,202,500
O HZ2ZRAY &g & HAAEZ ZdA
o 2,202,500
s 1,710,000
[ia 492,500
03 Al S HHI 7,500 0 7,500
OA& =2t 7,500
g2t 83 =4 312,000 0 312,000
201 Yete2 | 35,000 0 35,000
01 At 22l 20,000 0 20,000
Ogegaz2 B3 & FXIH0ES M 20,000
03 & Ar2 I 15,000 0 15,000
Ogelz2d SANNS 15,000
401 A& HI L 2Ol 277,000 0 277,000
01 A& Hl 277,000 0 277,000
Ooge 2z &4 =4d 277,000
S22 NE 2= 517,250 380,110 137,140
AMEH2ZX S 313,620 210,220 103,400
AMED 2223 313,620 210,220 103,400
101 @144l 78,400 36,000 42,400
04 JIZHHZ22XNHESE S+ 78,400 36,000 42,400
O=ZX W=EJN&Y 28 2y
150,000+8 L x4&H x4 2| 19,200
O2ZX M=z 80,000+5& x20%H *53] 40,000
Oz&X £& % &ZFH €8 U=2Y
80,000+ 12 5% *43| 19,200




SH: BBIE

M. MEHMERZXNE 2S5
S AAEH2ZX SZMHA (cho &)
SA-HB .Y (BH) - MBPAY - B2 o A o SSa H RS2
201 Bt A | 104,220 144,220 AN 40,000
01 AP 2t 2l Yl 17,780 17,780 0
O33a&4 SHEX ted] 3,000,000& 1 3,000
OAE T SRF=X Z S| 3,000,000& =1 3,000
OFAN29HI 4,000,000& =14 4,000
OREFRSEE 10,0003 x6 2+ 12& 720
OArE O Q1o H4D| lEE 550003128 660
OAEZEH AXN2(EHYH E) 500,000*43] 2,000
OANAEUHZ2EX E22 M 2,000,000 2,000
ORoAHAIAY XI5 ==& 200,000 *12& 2,400
02 35294l 86,440 126,440 A 40,000
OArd 22X 8II23 30,000
OMAE2ZX &ot+E 23 3,600
O&EI|otM 22| A 250,000& x12& 3,000
O333&E E2asHE 500, 000& *43| 2,000
OAE&H SXNH(SESZEEDIQ 145 I HEHI
s) 5,000,000& =1 5,000
Ost&Ea ANESANES 2,000,000& x 1 2,000
OMYDIIESHH 8§ ¢ 3,000,000& 1 3,000
Ofdes =z 45,000& x12& 540
OAISE T BH=2AlE S X122
3,000,000& =1 3,000
OO0lEgX B8 & 500,000& 10 =1 500
OMAH2ZXUW 2Ad RAE=>
1,000,000& 1 1,000
O0el0l=0lAld SX2eldl 2,000,000 1 2,000
OANE2ZX S X 2eldl 10,000,000& =14 10,000
O3 EA &d A5 300,000& 63| 1,800
O&IIANE SR 5,000,000& =1 5,000
OMAEH =5 SAIZ2| 10,000,000& =1 10,000
S8 2 dxey 2 4,000,000& =14 4,000
202 (4] 3,000 3,000 0
01 2L Y| 3,000 3,000 0
OArd T 2el2d 3,000,000& 1 3,000
206 T 2 bl 27,000 27,000 0
01 X2 bl 27,000 27,000 0
OEAZg &+ 2¢ 10,000,000 =14 10,000
OAId 22X & 22 s 7¢
5,000,000& =1 5,000
OAd &= Hz7Y 3,000,000& =1 3,000
OdaxEeEg 25 2 (MOl S)
9,000,000%13] 9,000
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SH: BBIE

M MHMEZZXNE 2=
S AAEH2ZX SZMHA (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
401 Al HIZ 201 Y| 100,000 0 100,000
01 A& HI 100,000 0 100,000
OAET Z22AMRA B2 16,000, 000* 14 16,000
OAMEZ Bx=ZA 31,000,000% 14 31,000
OJt2& Lebs WA 25,000,000* 14! 25,000
OMEl S&t2 &0S £ 8,000,000 14! 8,000
OMENH X XIS 2 OtF B+
10,000, 000%2H 2~ 20,000
405 XtatFE SHI 1,000 0 1,000
01 AL =S H SHI 1,000 0 1,000
OMIEDl 7L 1,000, 000& = 1CH 1,000
oAZZX SN 203,630 169,890 33,740
oM sHEH 2229 203,630 169,890 33,740
101 @14 dl 64,100 47,200 16,900
04 JIZHHZ2XNHEE S 64,100 47,200 16,900
OASEH JHd22X, M4t 22| M=
o o2 64,100
— O=JIHY =Y
150,000 x6H 6 x53] 27,000
~ EEBIIRY 0%y
70,0003 x15H x6 2 +23| 12,600
— oABBT MEM LT Fooie
4,000,000& *23| 8,000
— oATA Y SHAMSMEH BAFY o=
= 2,500,000& »2H 5,000
— ZSHSHEH 0F2t 2tel f
11,500,000+ 1™ 11,500
201 Let24d] 107,530 98,090 9,440
01 At 22/l 22,760 28,640 A5,880
OAMEH 2H=25 ¥ 3,000,000& =14 3,000
Oxgs & A F 300,000& »4H 1,200
O&X & H34AES ¢ 500,000& = 12& 6,000
OFM SX2el & =4 5,000,000& =14 5,000
OQdelE =D HlO,3718&J| dES
130,000& 128 1,560
O=sM=dH RFE Sl
4,000,000 14 4,000
OMsAe E57Y 1,000, 000& 1 1,000
OEA~EE 7¢ 1,000, 000& 14 1,000
02 2324l 84,770 69,450 15,320
OHIIRS 3,380,000& x12& 40,560
Odot=Ex3 250,000& = 12& 3,000
OdJ|etE e =23 150,000& =122 1,800
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A XX
Ha: MBI RE
CHel: oA AN (2 &HH)
5 - 4
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
O&EIIAEH HIIZEAN =2 500,000 x 1 500
QAU MAMA U HI AR /EHSI|ISH
S, HeMAH 13]) 2,500,000 1 2,500
OASMAEA SAI22ld] 1,000,000& =14 1,000
O5YI |SX22l L AN +48
150,000& =12 1,800
Ooduer)| dstae| 1,000, 000& *23] 2,000
O2SM=SHEH L A2 ANE=E A2
5,000,000 =1 5,000
O2SM=4HEH &L A2 2317 A2
150,000& *35= 5,250
OgREXNY KA 22| 2,000,000 =1 2,000
OgeEXNY 24 1,500,000& 1 1,500
OMYIIESHHsSEFY 1,500,000& =1 1,500
Of4deEs Al22 X3 30,0002 ~12& 360
O2sM=4dH 28 & AUUEA
6,000,000& *13] 6,000
OoAZBIAUY 20 232 HA
8,000,000& =14l 8,000
OZ22ANd8d 242 400,000%53] 2,000
202 044 4,000 0 4,000
01 2L Y| 4,000 0 4,000
O2stM=4dEH 2229 o]
4,000,000 14 4,000
206 M = dl 10,500 10,500 0
01 X2 bl 10,500 10,500 0
O9AZ2& oA2ZX, 2 MI XH L 22
AHl & SRH(H=N, a4, 82)7
7,000,000 =1 7,000
OFIIME L JEIEEEME 7Y
3,000,000 =1 3,000
Oz (s2dE)| M=&ge)
500,000 =1 500
301 LBt A= 1,200 1,200 0
12 JIEtE A& =2 1,200 1,200 0
OZIel I 22| 100,000 x12& 1,200
405 XHAHFEI S HI 16,300 12,900 3,400
01 XA 2 E F S| 16,300 12,900 3,400
O&CZ2D| s="e) 22 10,000,000 =1CH 10,000
Ou=2 #¢ 300,000 = 1CH 300
Oolgolz A0 & EXF 2
6,000,000 =1CH 6,000
UAX XA A 25 8,332,614 12,549,663 N4,217,049
J| 1,000,000
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2N
X ZH -
L= B

el

2B =
YMXIZAY FWY S
NESIERSEEE]

SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2
= 2,984,900
= 4,347,714
INESPIE-IPSE= A 5,547,120 7,571,663 N2,024,543
J| 1,000,000
= 2,334,900
= 2,212,220
AR ZAMT AN 677,120 728,663 AN51,543
201 gBt24d| 113,260 111,260 2,000
01 AP 22| H| 106,060 104,060 2,000
O YAaNX= ¥ sHEE 28 21
50,000,000& = 14! 50,000
O ME(MHIAH) 58 S= 448
2,000,000 =1 2,000
O X=D18 =4 5,000,000 x4l 5,000
O DEEEZ FHA DID &4l
500,000 x12J00 & 6,000
O XZ2HOII 2 ¥ XIX202 SAF=XHE X
= 26,000,000 x 1Al 26,000
O =2 HOtAE & Hd 3,000
O XNX2J/N&8E 2| 8,000 x62 x95! 4,560
O daNX=x 2822 7Y 475,000& *203] 9,500
02 2%l 7,200 7,200 0
O dAXNXZAAIZS 22 2 600,000 128 7,200
202 04| 7,000 7,000 0
01 2Ll 7,000 7,000 0
O XXD|&ze g4 4,000,000 x 1 4,000
O XNEXZEHAH g2FAN 3,000,000 =1 3,000
307 2Iz2to| & 438,860 447,203 N8,343
02 QI AAIE E X 438,860 447,203 N8,343
O YUANKE EE L OHHEEHS (LANKE
HO) 80,000,000 = 14! 80,000
O AN X EHEH3 K& 283,260
O YHXX0S H232%35 K&
10,000,000 x70% 7,000
O YANXKZZHEHS JH=l X
15,000,000 = 1Al 15,000
O AN EE=H Y222 Hol X2
22,000,000 1Al 22,000
O YAaNXERe oA XA
20,000,000 *90% 18,000
O ZAEGE3 Mz N 17,000, 000*80% 13,600
401 Al EHI L 204 50,000 0 50,000
01 Al&H| 50,000 0 50,000
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AN 22X =1
HMu: QARRAY AMAL
SR ES R CEEEED
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OSANZANSH B o BUAL
50,000,000& =14l 50,000
402 BI2HX=01 M 68,000 77,200 A 9,200
03 212t & AL S HI 68,000 77,200 A 9,200
O RANSSALFAY (X SHHAAY)
83,000,000 *40% 33,200
O A|HMI 2AINE NBAY(IXsE e
Ared) 8,000& +7,0007H x30% 16,800
O dRAHTY OIXNEXMAML (== S A
) 500,000%2, 000kg*6%*30% 18,000
sC0(2H) X 72,000 72,000 0
< 9,900
s 62,100
307 21201 A 72,000 72,000 0
< 9,900
[ia 62,100
02 It S AHE L 72,000 72,000 0
OYs=201(8H) XA
2,500,000& 1270 & «6H «40% 72,000
< 9,900
s 62,100
M3) SRAMZZ YA SHAY(HEAY) 2,390,000 0 2,390,000
= 1,875,000
s 515,000
307 21201 A 1,900,000 0 1,900,000
< 1,425,000
[ia 475,000
02 It S AIHE L 1,500,000 0 1,500,000
OUAMNKIZZ AL ALE 29 450,000
< 337,500
e 112,500
OX =4 292 235t 60,000
< 45,000
s 15,000
ORIEYH 29 245t 60,000
< 45,000
i 15,000
ORIENES Hdd 23t XN& 180,000
= 135,000
i 45,000
Oga K& ABH H37ME N 100,000
< 75,000
e 25,000
OYaNI= 22 & 0HE sa 500,000
< 375,000
[ia 125,000
OLYANXIZ ZOH0oAHEY 23t 100,000
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AN 22X =1
HMu: QARRAY AMAL
el XIZD|E AU (el @2)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
< 75,000
s 25,000
OMEE OIHHE 2d9XA 50,000
< 37,500
s 12,500
04 QIZFHALAIH B = 400,000 0 400,000
OLAUNIIE==HM W= XA 400,000
= 300,000
e 100,000
402 RI2FX=0l M 490,000 0 490,000
< 450,000
s 40,000
02 QI EASEZ (01X S) 490,000 0 490,000
0238 RNIBTH AR N
500,000,000 *70% 350,000
= 330,000
i 20,000
O=dX= AIZDIE &t} X&
200,000,000 x70% 140,000
< 120,000
i 20,000
AN ZSH F& (XA 408,000 408,000 0
201 £B-2dH| 2,000 2,000 0
01 At 2t 2l 2,000 2,000 0
OXZ=HMEH Sl 2,000,000& » 14! 2,000
202 oddl 6,000 6,000 0
01 = LH o4 1l 6,000 6,000 0
OYaNIIE SHF& 3,000,000& »14 3,000
OUE =M #xord 3,000,000& » 14l 3,000
307 glz2tol & 400,000 400,000 0
04 QIZFHALAIH 2 = 400,000 400,000 0
OLAUNII =S HF=Z 400,000,000& =14 400,000
LAXE GAZ32 HE 2,000,000 2,500,000 A 500,000
J| 1,000,000
< 450,000
[ia 550,000
401 AIEHI L 20 2,000,000 2,500,000 500,000
J| 1,000,000
< 450,000
e 550,000
01 A& HI 1,993,000 2,491,000 A 498,000
OgaXNE IAM2st2t HE 1,993,000
J| 1,000,000
< 450,000
i 543,000
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A XX
HMa: QAR Zae FMAAS
e XNEDINE Mg (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
03 Al&E 201 Y| 7,000 9,000 A 2,000
OUAXE HAIRS2 HE 7,000
XN RQAEARA Y 608,494 794,000 A\ 185,506
X ZQAEARA 22| 29 608,494 794,000 A 185,506
306 52 608,494 794,000 A 185,506
012 608,494 794,000 A 185,506
OYMZI XA BARL S0
608,494,000 14! 608,494
X 2L DBt = 877,000 684,000 193,000
QUA X R 2A22Y 877,000 684,000 193,000
202 o4 | 2,000 2,000 0
01 2L I 2,000 2,000 0
OYLAXXHOIIIE 22 29 2,000
207 I & 100,000 0 100,000
01 g E Y| 100,000 0 100,000
OLAXEZHOIIE 2ZXXNNE HESEH AP
=29 100,000,000 =14l 100,000
306 52 650,000 597,000 53,000
o1 s2 650,000 597,000 53,000
OYLAXXHOIIE &H2 650,000,000 «1A! 650,000
401 Al HI L 2 0HHI 125,000 85,000 40,000
01 Al& H| 125,000 85,000 40,000
AAXXZHOIIA AMEES L AAIF=IE A
Hl 125,000,000 14! 125,000
X A23SH =& 2435 1,300,000 3,500,000 A 2,200,000
= 650,000
= 650,000
XXHOI2Y ALY (XS 1,100,000 1,500,000 A 400,000
& 550,000
= 550,000
401 AlEHIZL 2 0HY| 1,100,000 1,500,000 A 400,000
& 550,000
= 550,000
01 Al& b 1,100,000 1,500,000 A 400,000
O YANKE sZ=HOZEE LAY
1, 100,000,000 14! 1,100,000
= 550,000
= 550,000
AAXXHOIIIE AMAZE Z0|I ZH(HE)(HEA 200,000 2,000,000 A 1,800,000
o)
= 100,000
= 100,000

- 226 -




SA 2BIED
HMa: QAR Zae FMAAS
Sl XIX3SA FT 245 CERED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
401 AlEHIZL 2 0HY| 200,000 2,000,000 A 1,800,000
== 100,000
= 100,000
01 Al&H| 200,000 2,000,000 A 1,800,000
OYAXXHOIIA AFHE HOY XA (M
s 200,000
&< 100,000
= 100,000
NAsAEHA 1,808,800 838,800 970,000
= 500,000
== 600,000
= 708,800
MNASASBSNE O|EEAAE 1,808,800 838,800 970,000
= 500,000
= 600,000
= 708,800
A 20| = MEfZZX ZHEANY(HE) 800,000 830,000 A 30,000
o 600,000
= 200,000
401 Al HI L 204 HI 800,000 800,000 0
o 600,000
= 200,000
01 Al&H| 795,000 795,000 0
OM44 20| & MEIZBX ZLAL (M)
795,000,000& 795,000
== 600,000
= 195,000
03 Al 201 Y| 5,000 5,000 0
OM44 20| & MEIZBI ZHAL (M)
Al & 2] 800,000, 000& *0.625% 5,000
A4t 29| = ME 22X XAAFS (KHA) 8,800 8,800 0
201 et 4,000 4,000 0]
01 AR 22l ] 4,000 4,000 0
OMEN 22X B8 3,000,000 =1 3,000
OMEN2ZX HZO0LIM HE=E3S 2
1,000,000 = 14! 1,000
301 et A= 4,800 4,800 0
09 SHAIAHI X & 2 4,800 4,800 0
OFoAa2Z AIY 2,400,000 23| 4,800
2dS =223 =d &2 ZEAY 1,000,000 0 1,000,000
= 500,000
o 500,000
401 AlEHIZL £ 0HY| 1,000,000 0 1,000,000
= 500,000
= 500,000
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2N
X ZH -
L= B

el

sl

e W

X =D
AR
HEARE 0| B AL

SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
01 A& HI 995,000 0 995,000
O=2Fs 223 SdlZ2 ZEAME
995,000, 000& 995,000
= 500,000
e 495,000
03 Al 2 THHI 5,000 0 5,000
23S 223 sdl2 ZHAY
1,000,000,000& *0.5% 5,000
eSS a2 d st 2,500,000 2,024,000 476,000
< 1,000,000
s 1,500,000
EtelsSag =4 2,500,000 2,024,000 476,000
< 1,000,000
s 1,500,000
SES=YEZAMNELEXNNA 500,000 0 500,000
201 Let4d] 5,000 0 5,000
01 At 22l 2,000 0 2,000
OZ2==2ZZANE 29 2,000,000 » 14 2,000
02 =224l 3,000 0 3,000
OZ2Z2s=EIANE 532= 3,000,000& 1 3,000
206 M= Hl 45,000 0 45,000
01 MHZ 4l 45,000 0 45,000
OZB3s=EIANE sX2el
45,000,000& 14 45,000
401 AIEHI L 2 CHYI 410,000 0 410,000
01 A& HI 410,000 0 410,000
OHYUEX 243 410,000,000 =14 410,000
405 XHoHF S HI 40,000 0 40,000
01 HatL ESFH S 40,000 0 40,000
OXdl 23xg 7¢ 40,000,000 = 1CH 40,000
Bl SSXNJMEH A (HE) 2,000,000 2,000,000 0
< 1,000,000
e 1,000,000
401 Al HIZ 2018 2,000,000 2,000,000 0
< 1,000,000
s 1,000,000
01 A& HI 2,000,000 1,995,000 5,000
OttASSXNJHE A (HEH) 2,000,000
< 1,000,000
s 1,000,000
HE2IAZH (2= 63,960 61,920 2,040
Jl23&dl 63,960 61,920 2,040
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